AUFBAUANLEITUNG  Maximale Belastung :150 kg Artikel Nr.101991

Schritt 1:

______

©x 02 pes (R-L)

D M6x50
(04 pcs)

@ M6x35
(04 pcs)

B3 M6x13
(04 pcs)

@ M6x13
(04 pcs)

Benotigtes Werkzeug

® M6x20
(04 pcs)

® M4 (02 pes)

C > >

Kreuzschlitz-Schraubendreher (nicht enthalten)




